CBonCTBaA AENCTBUN C pauuoOHanbHbIMU YUCnamu.

3aKoHbI (cBOUCTBA)
YMHOX€EeHUA

CBOWNCTBO 4ucna 0.
O=a 0=0a=0
CyuwiectBoBaHue yucna 1.
a=a I=Ia=a
[lepemMecTUTENLHbLIN
(KOMMYTaTUBHbIN):
ab=ba
CoyeTtartenbHbIN
(accounaTmBHbLINY):
abc=(ab) c=a (bc)
Obo3HavyeHus: ab=ab; 2 a=2a,
HO 23#23

CsoucTBa AeneHus

Ceounctea 4uncna 0:

0:a=0

Ha 0 oeaums nenwvsza (0o 10-20 kracca)
Ceouncrea uncna 17:
a=a:1=a/l

a/a=1
OTCYTCTBYIOT COY€ETATENBHOE U
nepemMecTuTenbHoe ceoucTea!l
Ho ecnu a-b=c = a=c:b, b=c:a ;
ecnn a:b= a/b=c = a=c b=ch, b=a:c=asc,
ecnun 3HameHaTtenb He paBeH O !
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HananTe 3HavyeHue BblpaXXeHus
5:13x+7/,1 =2ly—11 npn x=-%,, y=-0,5.
5:13+(=%/5) +7/,1-21-0,5-11=
=5:1-4+37/,1-2I-1,51=
=5:1-1/,1-2+1,5=
=5:1/,-3=
=5+2-3=10-3=7



